
 

s@lm@n 

 

IBM 
Exam C2090-620

 

IBM Cognos 10 BI Author
 

Version: 6.0

 

[ Total Questions:   50 ]

https://certkill.com

http://certkill.com
http://certkill.com


An author wants to create a filter on this report to only show Product line totals larger than
1 billion. 
 
 

 
 
What calculation is used to create this filter? 
 
 
A. Detail filter as: [Total (Revenue)] for [Product line] >1000000000Application = After auto
aggregation 
B. Detail filter as: [Total (Revenue)]>1000000000Scope = Product line 
C. Summary filter as: [Total(Revenue)]>1000000000Scope = Product line 
D. Summary filter as: [Total(Revenue)] for [Product line]>1000000000)Application = After
auto aggregation 
 

Answer: C

 

 

Question No : 1

Question No : 2
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In Report Studio, which chart lets the report author plot a third measure? 
 
 
A. Area 
B. Bubble 
C. Scatter 
D. Progressive Column 
 

Answer: B

 

 

An author wants to create a report that displays certain list columns depending on the
user's prompt selection. What property of the list column must the author define to create
this variable? 
 
 
A. Text source variable 
B. String variable 
C. Style variable 
D. Render variable 
 

Answer: D

 

 

An author creates a report in Report Studio. The report contains a parameter for the
Product line query item. The author wants to let users drill through to this report from a
variety of reports created using the GO Data Warehouse (query) package. To ensure that
this target report contains data for the appropriate products, the author wants to limit the
report cells that users can drill through from in source reports. What must the author do
when creating the drill-through definition? 
 
 
A. Set the Product line query item as the target of the drill-through definition. 
B. Set the Product line query item as the scope of the drill-through definition. 
C. Add a parameter for the Product line query to the drill-through definition. 
D. Delete all data items except for the Product line query item from the drill-through
definition. 
 

Answer: B

 

Question No : 3

Question No : 4
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Which statement about the tabular data retrieved by Report Studio queries is true? 
 
 
A. Tabular data includes a column for each data item in the query. No grouping is applied
to the tabular data. 
B. Tabular data includes a column for each data item in the query. Grouping applied in the
report layout is also applied to the tabular data. 
C. Tabular data can only include columns for data items that appear in the layout. No
grouping is applied to the tabular data. 
D. Tabular data includes a column for each data item that appears in both the query and
the layout. Grouping applied in the report layout is also applied to the tabular data. 
 

Answer: A

 

 

In Report Studio, what is a baseline? 
 
 
A. A value in a list report that other values are compared against. 
B. A constant value that represents the x-axis in a chart. 
C. A constant value drawn on a chart to indicate major divisions in the data. 
D. A break point that keeps part of a report stationary while the user scrolls. 
 

Answer: C

 

 

In the report shown in the image, 
 
 

Question No : 5

Question No : 6

Question No : 7
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